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56 + 20 =

00— 20 =
78 + 5 =
L2—5 =
39 + 24 =
/3—17 =
9 x 5 =
22 + 2 =
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Double 8 =
Double 17 =
Double 3| =
Double 40 =
Half of 18 =
Half of 30 =
Half of 48 =
Half of 70 =




Y2 Quick Start: Problems

| Use <, = or = to make these number
sentences correct.

Z There are 50 children In a school.
IS of the children are girls.
How many more boys than girls are In
the school?

| The cost of a pineapple is twice the
cost of a melon.

Jd |

€4 each

How much do the pineapple and melon
cost altogether?

2 Tommy thinks of a two-digit number-.

[ My number E
endsinas ~

Does Tommy’'s humber have to be
odd? Explain your answer.




Writina Tack. Lot

Write a Lletter to your new teacher teLLLn,g them all

about yourself.




Seionce. Amimale incladina H

Exercise

Why do we need to exercise?
How does it make us feel?

How do our hodies change hefore, during and af-

ter exercise?

Who is the fittest—a child or adult? Conduct an in-

vestigation using these activity cards to find out!

Jump up and down like a kangaroo for 1 minute. Do star jumps for 1 minute.

Stretch up high, then touch your toes, as many times
as you can in 1 minute.
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How many words can you read in one minute?

Read the whole text again then answer each gquestion.

In 60 seconds I read
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Complete the SPaG mat.
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